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Low-level data: charge and time of a signal

Higher levels: shower plane, energy, S125 Tensorflow
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hidden layer 2
a neural network playground



https://playground.tensorflow.org/#activation=tanh&batchSize=10&dataset=circle&regDataset=reg-plane&learningRate=0.03&regularizationRate=0&noise=0&networkShape=4,2&seed=0.39700&showTestData=false&discretize=false&percTrainData=50&x=true&y=true&xTimesY=false&xSquared=false&ySquared=false&cosX=false&sinX=false&cosY=false&sinY=false&collectStats=false&problem=classification&initZero=false&hideText=false

http://www.mdpi.com/2072-4292/9/12/1305

http://inspirehep.net/record/1123894/plots
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http://inspirehep.net/record/1123894/plots

